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1) In a PN-junction diode, on either side of the depletion region consists of

(A) Electrons (B) Holes

(C) Both Electrons and Holes (D) Positive and negative ions

2) The value of the ripple factor in an full-wave rectifier is

(A) 0.48 (B) 1.21

(C) 1.12 (D) 0.84

3) The expression that gives the relationship between a and β of BJT is
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4) In JFET the flow of electrons from source to drain depends

(A) Source Voltage (B) Drain Voltage

(C) Gate Voltage (D) Both source and drain voltage

5) The transistor parameter β independent dc biasing circuit is

(A) Fixed biasing

(B) Collector feedback biasing

(C) Emitter Follower biasing

(D) Voltage-divider biasing

6) The digital circuit module which is not a combinational logic circuit is

(A) Adder (B) Multiplexer

(C) Encoder (D) Flip-flop
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7) The number of select lines used in 1:16 de-multiplexer is

(A) 2 (B) 4

(C) 5 (D) 8

8) Gray code for the binary digit 10110 is

(A) 11101 (B) 10101

(C) 11001 (D) 10011

9) Which of the following gate is called universal gate

(A) OR (B) EX-OR

(C) NAND (D) AND

10) The single bit change code is

(A) Excess-3 code (B) Gray code

(C) 8421code (D) 5421 code

11) Output impedance and CMRR of an ideal op-amp are _____ and _____
respectively.

(A) ∞ and 0 (B) ∞  and  ∞

(C) 0 and 0 (D) 0 and ∞

12) For a square wave input to the op-amp differentiator, the output is

(A) Sine wave (B) Square wave

(C) Spike wave (D) Triangular wave

13) Which of one of the following circuits is used for converting a sine wave into
a square wave

(A) Astablemultivibrator (B) Bistablemultivibrator

(C) MonostableMultiibrator (D) Schmidtt Trigger

(P.T.O.)
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14) The value of the output voltage V
0
 in the circuit of Fig. 14 is

(A) 6V (B) –6V

(C) 9V (D) –9V

15) The R-2R digital to analog converter requires roughly

(A) 2N resistors (B) N resistors

(C) N/2 resistors (D) N2 resistors

16) A strain Gauge is a passive transducer and is employed for converting

(A) Mechanical displacement into a change of resistance

(B) Pressure into a change of resistance

(C) Force into a displacement

(D) Pressure into a displacement

17) The Hall sensor senses

(A) Temperature (B) Humidity

(C) Magnetic field (D) Pressure
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18) The transducer which requires an external power and their output is a measure
of some variation such as resistance, inductance, capacitance, etc. is called as

(A) Active transducer (B) Passive transducer

(C) Primary transducer (D) Self-generated transducer

19) LVDT windings are wound on

(A) Steel sheets (B) Aluminum

(C) Ferrite (D) Copper

20) ______________ of an instrument is defined as the smallest change in the
measured variable to which the instrument will respond.

(A) Precision (B) Sensitivity

(C) Accuracy (D) Resolution

21) The size of the internal program memory in Intel 8051 microcontroller is

(A) 4K Bytes (B) 16K Bytes

(C) 8K Bytes (D) 64K Bytes

22) The size of the RAM in Intel 8051 microcontroller is

(A) 256 Bytes (B) 128 Bytes

(C) 512 Bytes (D) 1K Bytes

23) The number of timers in Intel 8051 microcontroller is

(A) 2 (B) 4

(C) 1 (D) 3
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24) The bit length of the Intel 8051 external address bus is

(A) 8-bits (B) 20-bits

(C) 16-bits (D) 10-bits

25) Example for the logical instruction of Intel 8051 microcontroller is

(A) MOV A,R0 (B) JNC next

(C) ADD A,R5 (D) ANL A,@R0

26) When a transmission line is terminated with its characteristic impedance

(A) Reflection occurs

(B) Maximum power is transferred

(C) Standing waves are formed

(D) Power generates along the transmission line

27) The impedance offered by the free space for the propagation of electromagnetic
wave is

(A) 377Ω (B) 37.7Ω

(C) 3.77Ω (D) 377kΩ

28) Half power bandwidth is also known as

(A) –3dB bandwidth (B) +3dB bandwidth

(C) +2dB bandwidth (D) –2dB bandwidth

29) Which of the following antenna is used as standard reference for calculating
the directive gain

(A) Half wave dipole (B) Infinitesimal dipole

(C) Isotropic antenna (D) Elementary doublet
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30) The characteristic impedance of a lossless transmission line is

(A) Inductive (B) Capacitive

(C) Inductive and Capacitive (D) Resistive

31) The bandwidth of the amplitude modulated signal is ______ times that of
the maximum frequency value of the modulating signal.

(A) Half (B) One and half

(C) Two (D) Two and half

32) In TV transmission, the modulation scheme used for voice and picture
transmission is ____________ and __________ respectively.

(A) AM and FM (B) FM and AM

(C) FM and PM (D) PM and AM

33) The frequency range used for FM broadcasting is

(A) 20 Hz to 20 KHz (B) 88 MHz to l08 MHz

(C) 88 KHz to 108 KHz (D) 4 GHz to 6 GHz

34) The major advantage of FM over AM is

(A) FM reception is less noisy than AM

(B) FM circuit is simpler than AM

(C)  The bandwidth of FM is smaller than AM

(D) FM has small frequency deviation than AM
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35) The modulation index of amplitude modulation is given by
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36) In PWM, if the on-time duration t
on

 is equal to 10 mili seconds and the off-time

Durationt
off

  is equal to 30 mili seconds, then the duty cycle of the pulse train is

(A) 10% (B) 40%

(C) 33.33% (D) 25%

37) The distance of a geostationary satellite from the surface of the earth is nearly

(A) 360 Km (B) 3600 Km

(C) 36000 Km (D) 360000 Km

38) In a satellite communication

(A) Uplink frequency is 25% of downlink frequency

(B) Uplink frequency is greater than that of downlink frequency

(C) Uplink frequency is 50% of downlink frequency

(D) Uplink frequency is equal to downlink frequency

39) In PCM, Quantization noise can be reduced by ______

(A) Decreasing the number of quantization levels.

(B) Decreasing the sampling frequency rate.

(C) Increasing the number of quantization levels.

(D) Increasing the peak-to-peak amplitude of input signal.



MA-9006 [9] (P.T.O.)

40) Minimum number of geostationary satellites required to cover the earth is

(A) 1 (B) 2

(C) 3 (D) 7

41) The expression for the energy of a discrete-time signal x(n) is
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42) The output of a causal system depends on

(A) Only past inputs

(B) Only future inputs

(C) Both present and past inputs

(D) Both present and future inputs

43) Linear convolution is

(A) Commutative and associative

(B) Commutative and non-associative

(C) Non-commutative and associative

(D) Non-commutative and non-associative

44) If X(z) is the Z -transform of the sequence x(n), then the Z -transform of x(– n)
is

(A) X (z–1) (B) X (1/ z–1)

(C) X (z2) (D) X (1/ z2)
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45) The DFT of unit-sample function δ(n) of length N is

(A) N (B) 1

(C)  0 (D) ∞

46) An Assert command in VHDL is

(A) Non-sequential and concurrent

(B) Sequential and non-concurrent

(C) Non-sequential and non-concurrent

(D) Sequential and concurrent

47) The object used to connect entities in VHDL is

(A) Variable (B) File

(C) Constant (D) Signal

48) The non-synthesizable data type in VHDL is

(A) File (B) Access

(C) Composite (D) Scalar

49) The ENTITY definition in VHDL contains

(A) Only name of the ENTITY

(B) Name of the ENTITY and list of input and output ports

(C) Only input ports

(D) Only output ports

50) The highest level of abstraction in VHDL is

(A) Structural level (B) Sequential level

(C) Behavioral level (D)  Gate level


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